
Strambotto à 5
105. Signora Julia

Miguel de Fuenllana
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Orphenica Lyra (1554), f.114v. Encoded and edited by Sarge Gerbode.

2) "c" in orig. Same in bar 38.
1) "e" in orig. Changed to make the cadence.



35

 
  

che



el



ciel



tu



40

tre



su-

 

er




en

  

45



pre-









che_el



ciel



tut-



te



su-



e



tem-



pre




po-

 

se

 

in-
  

for-

 

che





















el ciel












tutte












sue tempre







































 










pose












informar-



















































 

po-



se_in-

 

for-



mar-



50

vi,


  

in-

 

for-



55

mar-



vi.


 

Et



al-



tre



60

gra-



ti-



e



spar-



65

te


  

fra



mil-



le



70

de




e-



ra



col



si



u-



na



par-




75



te,



par-



te

 

et



tal



vi



80

fe

 

che



non



tro-








mar-



vi,

in-

 

for-



mar-



vi



et



al-



tre



gra-



ti-



e



spar-



te



fra



mil-



le


dee



ra-



cols



in



u-



na



par-



te,


  



ra-



cols



in



u-



na



par-

 
te.

Et



tal



vi



fe



che



non



tro-



ba-



te_e



vi,












informarvi























































et altre





























gratie




































sparte






















fra mille














dee racols



















































in una











par-



























te,



























2)



























































racols in una




























































 

parte3)





























et













talui




















feche














non trobate




































equale








  

et



se hor volesse



- 2 -

5) "c" in orig. yields a tritone.
4) "c" in orig. is too weird.
3) "c" in orig.
2) "e" in orig.
1) Note added by editor to fit words.


